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=��������
�� ��?���( �� �������� ������������� ������L
, (�� �
�����	�)�� �����-

L���( ���(��� ��������� �����. 
 

THE SUBSTANTIATION OF GEOMECHANIC AND 
MINECONSTRUCTION SOLUTIONS OF PRODUCTIVE CAPACITY 

MAINTENANCE OF ARTEMOVSK’S GYPSUM MINE 
It is proved solutions for Artemovsk’s field excavation, which secure increase of gypsum ex-

traction capacity. 
 
8�������) �
��
����� ������B� ������������* �����, �
� ��
��$�, �
-

����� – ���$���B�� ������
��. &���B��� ���L����$(���( ?��$��(�� �$� ���-
���
$��B�� ����$
��. ������� �
�������
����� ������������*, �����*��� 
�
$��
��� �
 ����$�?�� �$����
� ��L�B� �$
���� ����
, �B���
( ����*	�-
����� ������B� ���
����* ����$���$� �B��� �
���* ������B. !$( ������B� 
?
�� �
�
�����B �
��$��� – �$����
( ���������
 �
$���*, ��	�� – �$� ����$-
��������
( ����
 �B���� �
����B� �
�
���. 8
�
����B �
��$�* �$����, �B-
���	�B� �������, ���$����
��$������ �� ���
����� � ����B ����*�� ��(�
�B � 
��������B�� ����� – ���$���	������ ��$���(��. !$��
 �
��$�* �����(���( �� 
400 �� %000 �, 
 ?����
 ����
�$(�� %00 – 200 �. 8��������
 �
��$�* ���L����-
$(���( ����������� �
�����
$��B�, �
��$��B� � �$����B� ?������. &����$(-
�����B� ?����� �$( ���������
��( �	����B� �	
����� ������(� � ������
-
����B� ��$��
� �$� �
���
�. 8�� �
��* ����� �����
 �B����� � �����$���	�-
���� ���$� (�$(���( ���$��B* ��� ����� – �����������$��B� �
��� [%].  

=�����
( ����������	����� ��$���( ��� ���
����� ������������ ��������� 
������������(, ���������� �������� �$���)L�� #
����B: 

- ���$�	���� �$����B �
��
�����; 
- ���$�	���� ��$�	����
 ���$���	����� �
��?���*; 
- �
$�	�� ��� ���������* ���	�����; 
- ���������� �
 �������B� �	
���
� ?
������ ��$( I-IV �$
���� ����
, (�-

$()L���( �
L���B�� ��� �B���� V �$
��
. 
& ��(�� � U��� ����� ������$�����, 	�� ��� ������� ����B� �
��� �
 �L� 

�����
���
��B� �	
���
� ?
������ ��$(, �������� ���$�	���� ��$�	����
 
����B��( ���$���	����� �
��?���*, ���	�� ����(������ �� ��(�$���( ���B-
?
���( �� ��
�����) � ���
���
���* 	
���) ������������(. \�� �������� � 
�
��������(� � �
$���*?�� �
������ ����B� �
��� � ��������� ���������� 
��������( �
�
������ ������B �
��
�����. 

I�� ����
�$()L��  ������$()� ������
��� �����(���* �
���B: %) $���$��� 
– ������
��	���
( �����
 ��$���* U���$�
�
��� ������������(, ������$(��
( 
��$�	�������B�� ���
�
��$(�� � �
	�������B�� �����
�
��; 2) �������B$��, 
������
��( � �������B �B���
 �
�
������ �
����� – ���$����* ������B �
�-
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�
����� � �����$���	����� ���$
������ �����������$��B� � �	����B� �
��� 
��� U���$�
�
��� ������������(; 3) �������B  ���
���
��� ���������� ��-
��������
 �
 ����*	������) �B�
���
����� ������
����
. 

>���$��� – ������
��	����� #
����B ��
�B�
)L�� �$�(��� �
 ����$�	��B 
�
��� � ��$����, �� ��#�������
��� � �
���?����. 

&���
$��B� � ����������
$��B� �
�$)����(, ���������B� �
 ����������* 
�������* ?
���, ���
�B�
)�, 	�� �
 �
	����� ���������
��( ������
$��B� 
������ �	����B� �
��� � ��$�� ��$���� ��� ���B���* ����*�� ����
 ��
	�-
��$��� �$�(�� ���L����
����� �
����
, ���	�� ������� U���� �$�(��( �
����� 
�� �
��
�$���( �
���$�����( �
��� �� ����?���) � �
����B� ������
� ���-
L��. =����
��$���� �$�(��� �
 #�������
��� ����������� ������ ��$��
 ��
-
�B�
�� ������
 ���L��, ������(L
( ��� ��$�� %0 - %2º  � ��� �	�����* �
���B, 
	�� ��� ���B��B� �
���
� ����$
�$��
�� �� ����������� �
���?����. &B��� 
U��� ���L�� � ����
� ������$
�
��B� �B�
�����, �
�����(�� ���������� 
���B��B� �
��� � �����
 ��
������( ���	���* ���
���
��(  �
��$�� � �B�
$��. 

�
 �����(��� ����$�	��B �
���, �
� � ��$����, �$�()� ���L����
����� � 
�
�
���� ����
���� ����� �� �$������(� �
�$
����
��*. 8�� �
������ ���L�� 
� ����$�	��� �
��� �
�$)�
)��( ���$����� � ����?���� ����
. =��$����
��� 
��
�B� �B�
����� ���
�
$�, 	�� � ��$�?������ �$�	
�� �$�L
�� ����?���* 
����
�$(�� 6 – %2 �²  ��� ��L����� ���$
��
)L�*�( �
	�� ����
, �
���* 0,2 – 
0,6 �.  & ���
� ���$���	����� �
��?���* �B�
����B* ����
�� ����� �$�(�� 
�� �
�$)�
���(, ��U���� ����$�	��
 �
��� �
 �
��� �	
���
� «��
�
(», ���	�� 
� ��$�?������ �$�	
�� ��
 ������
�$��
 ��$��� �
��(�����B� ������ � ��$)-
	���(�� �$�������� �
����
$
. \�� ����?
�� �����(��� ����$�	�� �
��� � 
�B�B�
�� ������������� ��?���( �������� �� ���B?���) �� ����*	������ 
��� � ������ ������( �	�����* �B����.  

����*	������ �B�
����� � ��
	���$���* ���� ��(�
�
 � �� ������������* 
�� ����?���) � ���������B� U$�����
� ��������� �
����
. 8�U���� �
��
�-
$���� �
��� ��$��� �B���
���( � �	���� �
�����* �
 ������������� �����$
-
�
)L�* ������B ���L��, �
��
�$���( �
�����( ��� ���$���	����� �
��?���* 
� ������ #
������, ��$���()L�� ��$���( �
��
�����. ���$ ����� ���) �	�-
����* �
���B � �
��
�$����� �
�����( ������B ���L�� ��$��� �B�� �
���-
�
$��� ����$�����B� � 90º. & �$�	
� �
$B� ��� ��
	���* (%0-%2°) ��� ����-
��� �
���, �������� ���B��B�, �
�$)�
���( ����������� �
���?���� � ��-
�$����� ����� � ��$��
�. 8�� ���(�$���� ��� ���$���	����� �
��?���* �$���-
�� ���������( �
���$����� �
���B ����������$(��� � �
��
�$���) �
�����( 
�
��?���* [2].  

�	��B�
( ��$������� ����� �
�$)	���, 	�� ����$�B* �	�� ������
��	�-
���� #
������ ��� �B���� �
�
������ ���
����� ��L�B� �$
���� ����
 � ��-
��� �$�	
(� �������� � �����
��
��B� �����(�, 
 � ������ – � �������) 
�����
������ ������( �
���. 

=�����	��� ����*	������ U$������� ����������� ������ �
��
����� ���-
����� ��� �B��$����� �$���)L�� ��$���*: 

%) �B��
� ��������	����� �
����B ��$���� � �
���, ��� �����B� �
���-
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�
$��B� �
��(���
)L�� �
��(����( � ��� �� ����B?
$� �B �����$
 ���	��-
��� �
 �
��(�����, � ��� �
�B�, ������������ �
���?���� ��$���� � ���
��-
�
��� ����
 � ����$�	���; 

2) ����
� ����$�	��� #���� ����
 ������������� �
�������(; 
3) ���
��� � ����$�	��� ���$���?�)�( �$���, �����
( ���$
 �B �B����
�� 

�
������ �
 �����, �
���) ���� ����� � �����$
� ����
 ������������� �
�����-
��(; 

4) �������� �
�$�	�B� ������B �����$���( ����B� �����; 
5) ���L������ ������� �
 �B���� ��$������ �����
�����, ������	��
)L�) 

�������� �$� ��$��� ���$)	���� �������� �����$���	������ �����*����( �
 
�����(��� ��������� �
����
. 

8������B$��, ������
��( � �������B �B���
 �
�
������ �
����� – ���$-
����* ������B �
��
����� � �����$���	����� ���$
������ �����������$��B� � 
�	����B� �
��� ��� U���$�
�
��� ������������( 

�$�����
����B� �����$���	����� ��?����� �$�	?���( ��$���* ���
�B 
�B�
����� (�$(���( ������� �� �������B���* �
 ����
*����) ����*�� ����
. 
�
���B� ��������( ���
�B�
)�, 	�� ��� ���
��	����� ������� �B���� ��-
��
�(���( ������
	
$��
( ���	����� �����, �����
)L�� �B�
�����, ������-
	��
)��( �$
�����(��B� ��$���( ���
�$���( �
��(�����-��#�������
��B� 
�����(���� ��������� �
����
. 8���
��� ����$�	��� ����	
��* #���B ����-
��	��
�� ����$����$���) ��������� �
 ��$��  � �
���L���� �����B� ��#��-
�
��*, 	�� ����
�� ��$���� ��Y������ ��#�������
��( �����. \�� ���B?
�� 
����*	������ ��$����. =���� �� ��������
$��B� ��?���* ���B?���( ����*-
	������ ��$���� (�$(���( ����
��� �����B� ����������(� #���B �
�
��$. 
I
��* �B��� �$����� �� ����$��
��� ?
���B� � 
�
$���	����� ���$����
��*. 
=������
��� �
�
������ �
��� ��$���� ��$��� ��
�� ��������� �
$���*?�� 
���$����
��*. 

8��������� ����
*��� ������ ��������� �� ��$��� � �����$���), �� � � 
����������) ������B �
��
�����, ��� ��(�
�� � ��������� �� ���$�	
�B� �
 
$����	�B� ��$���. & ��(�� � U��� ��(�$(���( ����������� ������
$����� (� 
�
��$(�) � $��
$����� (� �$��
�) ���
�$���( ����B� �
�$�����. !$( ������	�-
��( � ��$������������ ����
����( ����*	������ �B�
���
��B� ������
����, 
����$
�
���( ���
����� �$
���� ����� �� �
��$���-�$�����* �����. 

8�� ����
*����* �����$���� ������	��
���( �� ��$��� ���B?���� ����*-
	������ �B�
�����, �� �, �
� ���
�B�
)� �
�	��B, ���$�	���� ��U##������
 
���$�	���( �
 5-6 %. 

& ��� �$�	
(�, ����
 ���
����
 �$
��
 ����
*�
�� ���������
 ��-�
 �
$�-
	�( � ��� �$���  
�������
, ��$������
��� ������(�� ����������
���) ����� 
����*��. 8� �����
����(� ����*	������ �
��� �B���� $�	?� ����� � ������* 
� �����* ����
*���B�� �����	�
��, � ���$���)L�* ���B���* ����*��*  ��-
�
�?����( �
������� �
�
�
 ������
$��B�� ���
���
�� �$� ��$���� �������-
�
$��B�� ?���
�� � �������B� ���B�
����. 8�� �
��* ����� ��
	���$��� 
����
���( ���
������ �$�(��� ���B�
 �
 ����*	������ ����$�	�� � ��$����. 

=�B� �
���B ������B� ?
�� ���
�B�
��, 	�� ��������
( ��
$��
��( �
�-
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��������B� �����$���	����� ��?���* ����� ������	���  ��$����������) ��-
��*	������ �B�
�����. \�� ����B�
�� ��$�?�� ����������� �$(  �����	���� 
����$����
��( �B�
����� ������B� ?
�� � ��$(� ����B?$������ ����$���
.   

& �
�$. %.% ��������B ��������
���  �� �B���� �������� � ������� �B���� 
��$������ �����
�����. 

 
I
�$��
 %.% 

8����B 
I��B �$
���� 8��	����� �
 

��
���, 
8
 
"�������$(������ 
���
��), �, ��/�� 

"����� �B���� 

I. ������B� ��������B�, 
�������� �$�����( 

 
��  25 

 
2,7 – 3,5 

 
�
?���B* 

II. "$������ �������(, 
������
�$���B� �$�(-�� 
����
 � �������(���� – ��-
$������B�� �����
�� 

 
 

%% - 25 
26 - 40 

 
 

3,5 – 4,2 
4,0 – 6,4 

 
 

�
?���B* 
����������
��B* 

III. &����
 �$������ 
�������(, �����
������-
���B� 

%6 - 40 
4% - 60 

60 

3,0 – 6,4 
5,6 – 7,3 
7,6 –%0,7 

�
?���B* 
����������
��B* 

�������B���* 

 
@���
*���
( �B���
 ������������( �
 �$
��
�, �$�����B� �����
��, ���-

��$ ���	����� �
 ��
��� �����B� �� ����B?
�� 4,0 
8
, ��������$(������ ��-
�
��) – 6,4 ��/��. 8��������� ����
*��� �
 �����
�, � ��$�� �B������ ��
-
�
��B�� ���
�
��$(�� ��������, �� �
�����(��$���� �� ����$����
��� ����� 
��
�
���( U������	���� ���B����B�, ��U���� � �
��� ��$���(� ������	����-
$�� ����������
��B* (����
*���B* � �������B��B�) ������ �B����. "����-
��� U##���������� ���������( ����
*��� �� �
��� �����
� �B��
�� �� 
���$��� �� ���	�����), ���$��� �B����* ��������$(������) ���
��( (� ´ 7,3 
��/��). & ��� �$�	
(�, ����
 � ����������B� �$
��
� ���$��B* ��� �B����-
���	�B� ����� (µ > 60 
8
, 7,6 ´ �  ´ %0,7 ��/��) ��
	���$��, 
 �� ��������
 
�
���
, 	�� �� ������
�$(���( ��������* ����
*���
( �������
 ���������-
��$��B� � �����	�B� �B�
����� �� ����� ���	�B� �����
�, ������������( 
�������B��
( ����*�
. 

8������B ���
���
��� ���������� ����������
 �
 ����*	������) �B�
��-
�
����� ������
����
. 

=�����	���� �$���$���* ����*	������ �
��* ��$�?�* � �$����* ������
-
��	����* ������B, �
��* (�$(���( ���������
( ������
( ?
��
, �������� 
$�?� � �$�	
� ����(��	����* ������B ����
 � ���
����� ��#���
��� � ��-
���(��� �� ����$��B� �������. '
��
�
�B�
��B* ���������� ��$��� ����	
�� 
�$���)L�� ������
��(�: 

- �
�
�� ����
�����) ������ ����
��� �
 ���������� �	
���� ?
������ ��-
$(, �����$()L�) ����(��, � �$�	
� �������������, ���
���
�����B� � �����-
	����� ��?���(, ���$)	
)L�� ������������� 
�
��*��* ����
��� �$� 
�����?
)L�� �L��� �� �����*����( ������
���B� �������B� #
������; 
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